www.Padasalai.Net - No.1 Educational Website in Tamilnadu

)
)
o
o o
o9
o

CODE

VIII | IT | 23

PREPARED BY R.GOPINATH M.Sc.,B.Ed.,B.Lit.,PGDCA.,D.T.Ed., BT ASSISTANT (SCIENCE),
PUMS VENGATHUR KANDIGAI KADAMBATHUR BLOCK THIRUVALLUR DT - 9578141313

PART-11: SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Read the following instruction ca refully before you open

the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part-1.

2. There are 90 questions in this test booklet, All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given for
cach question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet,
Do notmark ‘v or ‘X" in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have leftin the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

8. Each correctanswer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet.

10. Quote your seven digit Roll Number without fail for
any future correspondence.

'LEASE TURN OVER THE PAGE AND START
ANSWERING.

Kindly send me your questions and answerkeys to us';:PadasaIai.
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MATHEMATICS/ s6ufl S0
(20+7) +12=20+(7+12). This satisfies | 91. (20+7)+12=20+(7+12) erenigy &1
which of the below mentioned property ? SE@TLeuDmE Ths UL Hepmaey
Qawiuyb ?
(1) Closure property (1) SieoLe|u v
(2) Commutative property 2) uflwrppl Lewry
(3) Associative property (3) Cemiyl vty
(4)  Additive identity d) sl Lé swaf
Find the value of : 92. WIUL| SIS :
[(— 60 +3) +10] X [(45+3) —2] [(—60+3)+10] X [(45+3)-2]
(1) -156 1) -156
@ -25 2) -25
(3) 120 3) 120
4) —130 4) —130

The base of the parallelogram is four times | 93. @ @amansrsHen oiqILSSDTETE)

the height and its area is 256 cm? then, its SHa 2 wrsamgll Gume 4 LG

height is : LHMID DGerm urly 256 Q.62 ereled,
SISENT WD :

(1) 4cm (1) 4 Qsg.8

(2) 6cm (2) 6 Qa8

(3) 8cm (3) 8 Gag.b

(4) 16 cm 4) 16 Q&.8
3

VY, ; NTOO |
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94.

95.

96.

97.

(2x+3y—4z)+ (6x—10y +14z) —
(15x+8y—7z) =7

(1) —-7x+y+3z

(2) 7x+y-17z

(3) —-7x-15y+17z

4 —7x+15y+17z

If (30+x)*=50625 then, the value of x is :
(1) 16

(2) 4

3) -—-15

4 -3

The value of (15%x16x17) is :

(1) 0

2) 1
(3) 15
(4) 17

The unit place value of the number

1022 +10B+10% is :
1) 0
2) 1
(3) 2
4) 3

94.

95.

§6.

97.

(2x +3y — 4z)+ (6x— 10y +14z) -
(15x+8y—7z) ="

(1) ~7x+y+3z

(2 7x+y—17z

(3) —7x—15y+17z

(4) —7x+15y+17z

(30 + )4 =50625 erarfled, x -ent Uy :

1) 16
2 4

(3 -15
4) -3

(15x16 % 17)° -&m gl :

1 0
@ 1
3) 15
4) 17

102241022+ 10%* ererp CGameneuufen

QRETDTLD @& :

1 0
(2) 1
3 2
4 3

Kindly send me your questions and anSwerkeys to us : Padasalai.Net@gmail.com
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4x2 —5xy +2y? +8xy—y%+xy is a :
(1) Monomial

(2)  Binomial

(3) Trinomial

(4) Polynomial

The number of zeros in 10010 is :

1) 2
2 3
3) 10
4) 20

If 5m +15 < 20 then, the value of 'm’ is :

1) m=0
2 m=1
3) m=1
4) m<1

If Babu repaid X 10,824 as total amount for
a loan of X 8,200 at the rate of 8% p.a., how
many years he had taken to repay the

amount ?

(1 1
2) 3
(3 4
4) 5

[CODE|{vi] 1t [ 23 |

98. 4x2—5xy+2y2 +8xy —y? +xy GTEILIF R
(1) emmuys Careneu
) monuys Carensu
@)  epeymlis Carenau

(4) uweeniys Cameneu

99. 100" -@eé oerer yFSlwiisefen

T et Gana
1 2

2 3

3) 10

4) 20

100. 5m+15 < 20 -@en Sirey :

1) m=0
2) m=1
3) m=1
4) m<1

101. umy ererueul 8% safeully aigss e
38,200 -g sLammsl Qupm T 10,824
Hmbus Qeqsdarmt erafldd e
T(HSEISOF TG 24,6857 (HSET GTEURETE ?

(1) 1
(2) 3
3) 4
4) 5

Kindly send me your questions and anSwerkeys to us : Padasalai.Net@gmail.com
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102. Find the value of ‘m’ in the figure.

(1) 72°
(2) 122°
(3) 29°
(4) 52°

103. If two plane figures are congruent then, they

are said to be :

(1) same in size

(2) same in shape

(3) same in angle

(4) same in both size and shape

6

102. UL gHleemer ‘m’ -6m LY Smers,

A

1 72°

(2)NJ22°
29°
52°

103. @(H S6T 2 (HEUSET FTEUFLLD eraile,

Sjehol

FLO HOTEY 2_6nL_Ianey

(2)  &w Gugeud 2 e Wenal
(B)  &w Garanm sjea 2 e wena
4) &w yeareyd s mqm@om

2.6l L_Wehaol

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com
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104. Pick out the correct statement(s) from the | 104. emeu(pd smmmisena shlwnaneupenms
following,

Ca s H&sHey .

@ o® @sGeransfle qamseE
GLopul L QaraiCHTamTISHT ianLowb.

() In a triangle, there will be more than
one right angle.

(i) In a triangle, there will be only one i) omn wsCsramgde @Gy )
obtuse angle. AfGsTand Wi (Hib S{EOLOW|D.

(i) In a triangle, all the angles can be i) @m wsCararsdo marsg

acute. CorambiaEnn @ mikGsm e -
SIS S|EHLDUW|LD.

(iv) Ina triangle, all the angles are obtuse. V) @® w&Coramsda  eparm

Gamambis@pid 6N Gamamtid @b,
(1) (), (i) wHmid (i) we G
@ () oG
3) (i) wpmd (i) w0 (i

(1) (D), (i) and (iii) only
) (i) only

(3) (i) and (iii) only
(4)  All of the above

4) Gupsmdlu maggbd

105. The median of 18, —4, 0, —3, —8,

—13,1, | 105. 18, -4,0, -3, -8, -13,1,7,8,9,3 =g fw
7,8,9, 3. greysaflen GenL_hlene :
1) -13 1) -13
(2) 18 2) 18
3 1 @) 1
4) 0 4) 0
106. The centroid of a triangle divides each | 106. g p&Ceransdeanr  pHECHTL
median in the ratio | enouwinnerg) geublaunm BHECHT _enL
W aildlgsdler ANsSnsy.
(1) 1:2 (1) 1:2
2) 2:1 @ 2:1
3) 1:3 @) 1:3
4) 3:1 4) 3:1

7
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107. 9fey =ierey 10 HmID 6Sés 80 o,

107. 1f a class size is 10 and range is 80, then the
9 feysaflen TR NS

number of classes are :

1) 80 (1) 80
2) 10 (2) 10
@ 7 G 7
4) 8 4) 8

1 3 5 1 3) 5 1 3 5 1 3) 5 ) :
108. ——(—--J#(——-J—— illustrates that the 108. ——(1—5J¢(—2‘—Z)_g GFWID@Q%GD”W@

2 \4 6 2 4) 6 2

subtraction does not satisfy the aQlflgpm) erammaalen LiggonYenen

property for rational number. Blenme| Qeliwng erarums eNaTs s -
g

(1) Commutative (1)  wflwrom

(2) Closure (2) SeoLay

(3) Distributive (3) urR&E®

(4) Associative 4) Geriy

109. Identify which among the following is a | 109. Yeneupeuaicumpmdler erg  Crflwe

linear equation. goearum(y ?

(1) 7k*>-16=0 (1) 7k*-16=0
(2) m-—16=0 (2) m-16=0
(3) 4p3=12 (3) 4pi=12
(4) 6x*=18 (4) 6x*=18

The graphical representation of ungrouped | 110. Csre&ssiuL s efeuriiseflar euempuL

110.
data is : cllatés (peny
(1) Histogram () Hlspey Aecicusid
(2) Frequency polygon (2)  flspey vaCsrenid
(3) Pie chart 3) eulL efeTd&sliLL LD
(4)  All of the above 4) @eeu DAL

Kindly send me your questions and anSwerkeys to us : Padasalai.Net@gmail.com
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SCIENCE/ i eSlwie0 4
111. Match the following, 111, QUIBEES : e
(@) Astronomical (i)  9.4607 X 10'* km (@) eumellwed (i) - 9.4607' x 1012
unit SV G AT
(b) Light Year (i) 1.6 km (b) eafl ger® (1) 1.6 .8
(c) Parsec (iii) 3.09%1013 km () efawemflwe (i) 3.09%x1013 &).18
27D
(d) Mile (iv) 1.496x108 km (d) e»wed (iv) 1.496x108 &..8
(1) (@)-(v), (b)-(i), (c)-(iid), (d)-(ii) 1) @-v), (0)-(3), (0)-(idd), (d)-(id)
(@) @), (b)-(iv), (I-(), (d)-() (2)  (@)-(iid), (b)-(iv), (0)-(id), (d)-()
(®) @i, (0)-(), (©)-(iv), (d)-(ii) 3) (@), (b)-(), (0)-(iv), (d)-(ii)
@) (@)-(i), (b)-(iv), ()-(0), (d)-(iii) 4)  (@)-@), (b)-(v), (9-@), (d)-(iid)
112. The main effects of electricity : 112. WlenGarmi_L_gden (psdlw 6Severeys:er :
(i)  Heating effect (i) Geuliu efeneray
(i) Magnetic effect (i) &nhg Neneray
(ii) Chemical effect (i) Ceud eSeneray
(1) (i) and (i) (1) (i) wHmb (iii)
@) (i) and (i | (2) () wHmd (i)
(3) (i) and (iii) 3) () LOmD (i)
(4)  All of the above 4) Gupsaflu o@arsgib

VY, ; NTOO |
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113. Pick out the incorrect statement
Primary cell
(1)  The chemical reaction inside the
primary cell is irreversible.
2) TItcan be recharged.
(3) Itis used to operate toys and torch
light.
(4)  Dry cell is an example of primary cell.
114. The term ‘'SCHOOL’ written in school buses
appears as “JOOHDe" in the mirror
because of :
(1)  Real Image
(2)  Virtual Image
(3)  Dispersion
(4) Lateral Inversion
115. The type of mirror in which the reflecting

surface directs the entire incident beam of

light to converge at the focal point is called :

(1)  Parabolic Mirror
(2)  Convex Mirror
(3) Concave Mirror
(4)  Plane Mirror

10

113. gaupren @mpons CsTHUSPssa;

114.

115.

N

(PSETENLD OGSV

(1) @Qeuniled B Cumd Geudleangy.
wrangy g Werm aflepan <y @ib.

2) @easmar Bar@®b WerGCarmny
G @uigb.

(3) G@umbewsdr, ea WleTelleTsEsar
Cunenp Al sTHEMRISMET @) Wés
Lwetu (H&lerment.

4) ecen Wasob Wt Wer-

EOEG THSGHSHTLL MG L.

‘SCHOOL" eten  wetefllls Gumpda
TPSULLLE lquled “JOOHDR" eTans
QsMougen smyewd -

(1) Quu Gbub
(2)  wru Qoun
3) NS mer

#) @QLaowrmon

Tl @rmef & Uriureng seang
Ao geflsapon simabmsyp
Gallwiiyemefuf 6 GAEGD 2y e
cUenN !

() ureueany oy
(2)  Geflumg

) @Pumg

(4)  swger <lg

@ |
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116. Which one of the following instruments uses
the Laws of Reflection ?
(1) Camera
(2) Torch Light
(3) Periscope
(4) Handy Lens
117. Find the equivalent value of 68°F in Celsius.
(1) 10°C
(2) 20°C
(3) 15°C
(4) 25°C
118. During BigBang Explosion, the level of
temperature was :
(1) 102K
2) 10%°F
(3) 103%°C
4) 107%2K
119. The type of reflection formed when a beam

of light falls on the smooth surface :

Total Internal reflection

2)  Multiple reflection
(3) Diffused reflection
(4) Specular reflection

11

116.

117.

118.

119.

[CODE [viI] 11 [ 23 |

adQrmafiiiy efdudleriig Qawcu@w
&6l :

(1) smwgr

(2) LmiF evevl

(3) QuilevGairi

4) . @sWLES Cevera:

68°F @muuﬁmwé@ FLowmet QFedlwen
wulemends seawLHlwey.

(1) 10°C
(2) 20°C
(3) 15°C
(4) 25°C

Qum GeugLiy Hlaswpnbs Gumg o (meurear
QeuliugSlen 2jemay :

(1) 102K
(2) 1032 F
(3) 10%2°C
(4) 10732 K

aupeupliurer url9e qaflssd T
2 (haum&@ L erdlGymeflly senanoulen
Gluwr :

1) us adQpreafiiy
(2)  weanaps erdlprafiiy
3) elyeuaman erdl@ymatliiyy
4)  semenrmg erdlGymafliiy
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120. The speed of sound in air at 273 K and

295 K respectively are :

(1)

3X10% ms=1, 331 ms-1

(2) 344 ms-1 340 me-1

(3) 331 ms—1 344 -1

@

331 ms~1, 3% 108 ms-1

121. The pressure cooker handles are made up of
bakelite. The reason is -
(1) Conductor
(2)  Insulator
(3) Decorator
(4) Easy for handling
122. Which of the following is wrongly paired ?
(1) Proton - Goldstein
(2) Electron - J.J. Thomson
(3) Neutron - James Chadwick
(4) Electron - Bohr

Cloud Model

Kindly send me your questions and anSwerkeys tous:

12

120.

121.

122,

273 K wpmid 295 K < dlw QQJL']U\
Blenavsafle galufler Geusid panGy, .

3% 108 ms~1, 331 ms~!

(1)
(2) 344 ms~1, 360 ms~?

(3) 331ms~1, 344 ms~!

331 ms~1, 3x108 ms~1

(4)

Mlyegasi G&sher emandigser swiml-
Lgler Cussenevl_ LweTU(h&sIL(Reusen
SMIERTLD

(1) sLggd Qunmer
(2)  sLgsml Qummer
(3)

S| CORIGITFL] Glummer

(4)

FOULDTSHS &L M(@HLD Qurr@eh

geupner Glepamapuwg Caimh05H&seb,

1) yCrm’ e - Came_cvie g
2)  eTes grenw - Cen.Con. smbean
B) Byl grer - Cobev sm efls
4) s greyw - Gumrr

Fo LIS GT

L

@ |
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123. Choose the correct pairs.

124,

125.

0
(i)
(i

(iv)
(1)
(2)
(3)

Antiseptic - Iodoform
Antibiotic - Chlorophenicols

Natural
Antiseptic

- Ethanol

Analgesics - Aspirin
(i) and (ii) only

(iii) and (iv) only

(i), (ii) and (iii) only

(4)  All of the above

Which type of fire extinguisher is used to
control the fire on butane and methane
gases ?

(1) Water

(2) Dry Powder

(3) Foam

4) CO,

Choose the incorrect statement.

(1)

(2)

Curdling of milk is an example for

irreversible change.

Churning of curd is also a physical
change.

Freezing of water is an example for

chemical change

Rusting of iron is an example for

chemical change.

13
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123. sflwnen Qaenaamensd CoibogHEsHa|b.

124.

125.

0
(i
(i)

(iv)
(1)
(2)
(3)
(4)

<2,y QFIg & - SCUrGL_mumibd
pamg U’ ig & - GGermymlieism
Buinens =emiq ClFLin & - GTHSTE

cuedl fleurgemtl - <yevi9fen
(i) mmb (ii) LL(HD

(iii) LOHMID (iv) WL (Hb

(i), (ii) OMID (iii) LI_(HLbd
Cunenplu Siamarssb

Dy GLer wHmD WSEHeT cumw|aser
Suumnmlermed AeuDMD 66T ssL
Lweru (b Swenamriurer

(1)
(2)
(3)
)

sl

2 6T G6T
Dient

CO,

geupnen sanenms GCgmHblsHEsH6|D.

(1)

(2)

ure sUlTrEe eraug e Warm
elenamum@Lb.

suilenrs EDLGE TGl (M
Quplilwe wrHowmELwb.

B e amse eramug Goudlulwich
LrHDEADE @G TOoHGsTL -
LM&GLD.

Bovy  geulyssd el
Gouglullwieh rpmsSnsan er(Hdg)é-

SMLL_T(&LD.
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126. The elements which are synthesized
artificially in the laboratory out of 118 are :
(1) 24
(2 26
(3) 18
4) 21
127. Liquid metal : Mercury : : Liquid non-metal :
(1) Bromine
(2) Chlorine
(3) Sodium
(4) Antimony
128. Hg?*, Sn?* jons have the following names
respectively,
(1) Stannous and Mercurous
(2) Stannic and Mercuric
(3) Mercurous and Stannic
(4) Mercuric and Stannous

Kindly send me your questions and anSwerkeys tous:
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126. @)gleuenT samLMUOIULL 118 sefly;

127.

128.

saflé cfg\bu]wasréiamﬂsb QE‘“@G‘DGSUJM

surfésiurL saflomigef
erenTenilGams:

(1) 24

(2) 26

3) 18

4 21

flrey e Gansh : UTSTED : dlra
SCarsid :

1) yGrmdle

2) EGermilenr

(3) C&mguwid

(4) yemgwefl

Hg?*, Sn?* siwells@pés cupmisi-
u(pw Quwirser wperpGu :

(1)  evGLeneman wHm GiE ey
() awGLerafls LHmb Quigfs
B) Glor@gray wpmb G erafs
(4) Gwigfs wHmb CLeeaen

|
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129.

130.

131.
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The element denoted in the diagram is :

(1) Ar
2) Kr
(3) Ne
(4) Rn

In Haber process, acts as a

catalyst.
(1) Ammonia

(2) Nitrogen

(3) Iron

(4) Hydrogen

The gases used to remove germs and bacteria

present in water :

(1)  Chlorine and Ozone

(2) Hydrogen and Oxygen
(3) Carbon and Oxygen

(4)  Chlorine and Hydrogen

129.

130.

131.

[CODE][viI] 11 | 23 |

UL @DHUE®L sl :

(1)  Ar
(2) Kr
(3) Ne
(4) Rn

Gapum efenaruie elemaruysdwns
Ceweau(eug) :

(1) SwCGwreflwr

(2) enpLygen
3) @y
(4)  emamlpmen

Bl 2 arer (mlsET wHmb LUTsle-
wrésanem hés LWaUID UTLSSET :

(1) @Carmflen LHMLD CFTE
(2) ewamlymer WHMID YHE e
(3) &miue WHmIb < &Femen

(4)  @Cermien wHmLD DL FEeT
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[CODE VI 11 | 23 |

132. is used to neutralize the pain | 132. ermby SqéE0 Gurg gHU@BDL 66
and irritation caused by ant bite. oM erfl§ee 2 auria|samar
Qaran(® sNQsiiwei.
(1) NaOH (1) NaOH
(2) KOH (2) KOH
(3) Ca(OH), (3) Ca(OH),
(4) NaCl (4) NaCl
133. Match the following. 133. Qummsgs.
(a) Storage root (i) Pisum @ CGsHloy Geur (i) uwlLmewfl
(b) Sucking root (i) Colocasia b) =flés Geur (i) Galur
Elpme
(c) Tendrils (iii) Beet root (©) upms &0 () Fleml
(d) Underground (iv) Cuscuta (d) seopdp sar® (iv) sevGLLm
stem
(1) (a)-(iii), (b)-(3), (c)-(i), (d)-(iv) (1) (@)-(iii), (b)-(1), (0)-(i1), (d)~(iv)
(2)  (a)-(iii), (b)-(iv), ()-(0). (d)-(ii) (2)  (2)-(iid), (b)-(iv), (c)-(1), (d)-(ii)
(3)  (a)-(iii), (b)-(iv), (c)-(ii), (d)-(3) (3 (@)-(iii), (b)-(iv), (0)-(ii), (d)-(i)
4)  (a)-(iv), (b)-(iii), (¢)-(i), (d)-(1) @) (@)-@v), (b)-(iii), (0)-(i), (d)-(i)
134. Pneumatophores are seen in : 134. Hlwl CLr’Curiger srariiu@eug :
(1) Avicennia and Banyan (1)  Seudlafiur wHmb eWLFD
(2) Vanda and Cuscuta (2)  eumaTLT WHmID SEVEGLLT
(3) Sugarcane and Betel () @Y whmb Gaspflaa
(4) Avicennia only 4)  efflaflur wl @
16
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Which of the following is/are correct with

regard to post fertilization changes in

plants ?
(i)  Petals fall off
(i) Ovary develops into fruit
(iiiy Ovules develop into seeds
.(iv) Androecium fall off
(1) (iii) and (iv) only
(2) (i) and (ii) only
(3)  (iii) only
(4) All of the above
136. The plants which produce spores are :
(1) algae, fungi, mosses, ferns
(2) algae, fungi, spirogyra, ferns
(3) fungi, mosses, ferns, yeast
(4) algae, mosses, ferns, spirogyra
137. The dominant plant forms of present day is/
are :
(i)  Pteridophytes
(i) Angiosperms
(i) Gymnosperms
(iv) Bryophytes
(1) (i) and (ii) only
(2)  (iii) and (iv) only
(3) (iv) only
(4) (i) only

17

135.

136.

137.

[CODE [VIII[ II | 23 |

sraurhsald smaynssGL ey
gHu@b wrpprsaild egl/aame &l ?

() <@dlser ECp 2 Slrflms)

i) @Deu seflurs wrmEng
(il) @& ellengsenns LIMEIDS)
(iv) W&IBSSTET UL b 2 ST&mg
(1) (i) LHOID (iv) LA

@ () womd i) - Ew

(3) (i) L GHd

4) Cuheaplu emarsg D

GGUTTEEET 2 (HEUT&GD STEUTTRISET :
(1)

LUTE&ET, LLEHENESHET, DTEVS&ET,

QurenflseT

(2) urnélaer, Lehengser, aueanuGrm-
angrm, Qurenflser

3)  UEhens&aT, brevser, Curemiser,
e L

(4) urélaer, wrevaer, Quyeaniger,

svenuGrrensym

SHETOSE QD  GUTIPLD & TeuTHhIGHeT 6
Blsa|b Cobun( mLbsme :

() QuAGLm.e@ul_{Haer
(i)  ERECUITEELTDEET
(i)  lbCarmev@umbaer
(iv) YerpCurenul_(Ha&aT
(1) (i) wHmb (i)

(2)  (iii) oMb (iv)

(3) (iv) LLGb

4) (i) L@
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[ CODE [VIII [ 11 | 23 |

138.

139.

140.

Agar Agar is extracted from ________ red
algae namely.

(1)  Chlorella and Spirulina

(2)  Gelidium and Gracillaria

(3) Ulva and Ascophyllum

(4) Laminaria and Anabaena

Find the correctly matched pair :

() Haustoria - Special roots present

in parasite

(i) Polypetalae - Petals which are many
but not united

(iii) Autotrophs - Organisms which
prepare their own food

(iv) Gamopetalae - United petals.

(1) (i) and (ii) only
(2)  (ii) and (iii) only

(3) (i), (ii) and (iii) only

(4) All of the above

Select the incorrect pair :

(1)  Unicellular - Euglena
organism

(2) Arthropoda - Snail

Star fish

(3) Echinodermata

Nereis

(4)  Annelida

18

138. &MH ST e Sleautyy
Ll mpg WISEsHSSLLGEDS

(1) @Carm@reem HMID TVaU-
(medlarm

(2) QsgeSigwid HMID HCrHACavfwur

(3) e wHmD <AEEET DD

4)  emAGaflum wHm o Serm

139. sflwrer @aaraws Csia] Aews,

i) eflers - QLB sreugmsafid
o pligset  sreru®b Smuy Ceutger

(if) L meo] - U gallgs el
QuLLC  @swamer ClETaLaal

(iti) soarry - srGear Hg o aramoud
o2 Wilger  gwrild@ o ulflsar

(iv) CaGur - Qa@arbhs e
Qui_L G Qsamard CQEnar_amal

(1) (i) oM (ii) L (Hb
(2) (i) woHmid (iii) b
(3) (D), (ii) wHMID (iii) WL Gib

) GCuhemduw <MV | LD

140. Qun(risns Qevarrenuds G 65 daa|b.

(D) @m Cge o yqf- wSatlerm

(2) sanssrlsdr - BHN S
B) w Csrdlsar - BLaGSHr e
) wmargams - Biflsiv

L(L&GEr

WAW | CTEDUCATI ONTOOLS. COV _ _
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141. Yeast reproduce by

141. yepengser

[coDE[viu] 11 | 23 |

____fpeld @eTl-

(1) fragmentation
(2) budding

(3) splitting

(4) spore formation

142. The type of pigment seen in phaeophyceae :

(1) chlorophyll

(2) phycoerythirin
(3) phycocyanin
(4) fucoxanthin

143. The number of ATP molecules formed by

glucose molecules in aerobic respiration :

(1) 26
2) 32
(3) 36
4) 20

Qu(mssD CQauidleaime.
1) sa@rLrge
2) Gum @ hHso
@) Gengsd

(4) oN&g 2 (HEUNESHLD

uQe euens :

(1) udenswd

2)  c.emusGsam erilsHhen
(B) ceamuGasmswuaie

@) ol sECamamhS e

gamsailen cramranisams -

(1) 26
2) 32
(3) 36
(4) 20

19
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[CODFvili[ 117331

144. The chemical substances secreted by

endocrine glands are called as :

(1) Proteing

(2)  Enzymes

(3)  Hormones

(4)  Fatty acids

145. Match the following :

(@) Amphitrichous (i)  E.coli

Psecudomonas

(b)  Atrichous (i)

(c)  Lopotrichous (if)  Rhodospirillum

rubrum

(d)  Peritrichous (iv)  Corynebacterium

diphtheria
(1) @iii), (0)-(0), (O-iv), (d)-(ii
(2)  (@)-(iv), (b)~(iii), (c)-(ii), (d)-(i)
(3)  (@)-(iii), (O)-(iv), (O)-(ii), (d)-(i)

() @-(i), (b)-(iv), (c)-(i), (d)-(iii)

144. prembleveam syl germe Dﬂ)u@

Qenwiubn  Geudll ﬂurr@mg
6TeTIL (LD,

(1) U
(2)  Qprdlaer
3)  anmiCorenger

(4)  Qamepuiy sblevbiser

145, Clummss)s

(@) @mapear spernd (i)  or.Carena
samauanip
(b)  sesullenpuimmensy (i) @G-
Gomenren
() @@ o sHhaps (i) CyrCr
sangilanip sen Ll -
QLD EHUITLD
(d)  FHmé sanglilantp  (iv)  Caemfled)
ungle Ml
g Mwar

(1) (i), (O)-(), (0)-(iv), (d)-(ii)
() @)(iv), (O)(ii), ()G, (d)-(i)
B (@Gii), (0)-(iv), (©)-(ii), ()G

(O )G, (0)-Giv), ()-G), (d)-(ii
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SOCIAL SCIENCE / s¢pa: yfleSlwied

146 —————— Was the land gifted for the
maintenance of schoolg,

(1) Vellan vagai

(2) Shalabho ga

(3) Brahmadeya

(4) Devadana

147. Who laid the foundation of the Qutb-Minar ?

(1) Iltutmish

(2)  Muhammed Ghori
(3) Qutb-ud-din-Aibak

(4) Ghiyas-ud-din-Balban

148. Find the correct pair :

(1) The Bibika Magbara - Azam Shah

(2) Lal Quila - Akbar

(3) Buland Darwaza - Shah Jahan

(4) Din-I-Panah - Aurangazeb

149. The Bijak is :
(1)  Avatar of Krishna

(2)  Holy Book of Jains

(3)  Collection of Kabir’s verses

(4)  Conduct code of Ulemas

146. saed HenewrismanTd urmofUusHETS
Q&Ten WIS Gug‘gréjaauuf_L_ i 0 i & 6T

(1) CGouerment cUens
(2) FreGurswd

(3) GrbwGsud
(4) Cseugmeid

147. GEUO@THEE Dg&ESM B igWieuT
Wi ?

(1) Qogibley
2) wswg GCsil
(3) GHuber BUS

4) Swunaden LTLIGT

148. silwunen Genavrepwsd CahosH&seyw.
(1) QGsT WSUMTT - LMD Qg
(2) omed @Weorm - ST

(3) YBST UTET - GT&Ten

4) Ser-@-umenn - QeSS

149. euys erenug) :
(1) Apegamafien <eusnyb
(2)  Oguamsafar Luals mre
(3)  sdfldr selmssaflar Qsmey
4) o Cawnssefen R(p5S 6llS

21

Kindly send me your questions and anSwerkeys to us : Padasalai.Net@gmail.com


https://t.me/ICTEDUCATIONTOOLS
https://t.me/ICTEDUCATIONTOOLS
https://t.me/ICTEDUCATIONTOOLS
manikandansri2908@gmail.com
Rectangle

manikandansri2908@gmail.com
Rectangle

manikandansri2908@gmail.com
Rectangle

manikandansri2908@gmail.com
Rectangle

https://t.me/ICTEDUCATIONTOOLS
https://t.me/ICTEDUCATIONTOOLS
https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - No.1 Educational Website in Tamilnadu

LCODE [VIIT[ 1 T 23]

1)
(2)

()

150. Which of the following incident is related
with Shivaji in 1664 ?
(1) Conquered Javali
(2)  Sultan of Bijapur was assasinated by
Shivaji
(3)  Heaudaciously directed his soldiers to
plunder Surat, the major Mughal port
(4) He wounded and chased away the
Mughal general Shaista Khan
151. The Vaikuntha Perumal temple at
Kanchipuram was built by :
(1) Mahendra Varman I
(2) Narasimha Varman [
(3) Narasimha Varman II
(4) Nandi Varman II
152. “Bigha Nitaya” means :
(1)  Preachings of Jainism
(2)  Ajivika philosophy
(3) Buddhist schools
(4) Buddhist tract
153. The first Buddhist commentator was :
(1) Asvaghosa
(2) Vajrabodhi
(3) Sithalai Sathanar
(4) Buddha Gosha

151.

(1)
(2)
(3)
(4)

152.
(1)
(2)
)
(4)

(1)

22

150. &@ésasrr@ﬁummaaaﬂeb 1664 -0 Hlaung)-
wLer Qe Bl&pe] erg) ?

someUaSlan LS OSLLDHMISE
Sepi, e HOSTET DUFDSTamar
Qarene GFlgen

pearuflar wsSwWs sopups
15 [T LD TG0l SIS GOpwrLg
BLOG| LIGDLGENET Si@US emeudse
wasomus sarugl CagulevLsrenay
sTuULBSS SITSSISD

s1eHE LTSS ayeTer eneu@earTL Clummar
Camuilened &L lg Ll LDEITEIIT :

wpsord EEBE Teu e
(PS@TD BHFEIDLOGUTLOE
QuerLmbd Brélbweuiine

QretLmd Bbdeume

‘Y Hlswr eremug) |

FET L0GGEUNSETSHET
2SS BEFIauD
CueTss LdTel s
Cuatgs Fiow )

153. (ps& Quetss 2 e -

SleveuGsman
urGurd)
sama EMGSETIT
UssGaman

VY, ; NTOO | ) ]
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the Buddhist study co lated to

ntre ?
(1) Nalandha
(2) Banaras
(3) Taxila
(4) Vikramshila
155. The chronological order of the forts annexed
by Shivaji :
(1) Raigarh, Torna, Kondana
(2) Torna, Raigarh, Kondana
(3) Kondana, Torna, Raigarh
(4) Kondana, Raigarh, Torna
156. At the end of which battle did Robert Clive
introduce Dual system of Government in
Bengal ?
(1)  Battle of Plassey
(2) Battle of Bauxer
(3) First Karnataka war
(4) Second Karnataka war
157.

Through which treaty, Peshwa Baji Rao Il
accepted Lord Wellesley’s Subsidiary
Alliance ?

(1) Treaty of Salbai

(2) Trcaty of Bassein
(3)  Treaty of Paris

(4)  Treaty of Mangalore

23

154.

155.

156.

157.

N

[CODE [ VIIT] II [ 23 |

Epssam_aphe g Uss & o el
MWD Biebed ?

(1) promppn
(2) ueTTyeE

(3) sL&fDd
(4) efgyw&em

Aourd) esULHOlW Caml_eLgailer
gflwmen euflens :

1) Quisri, Camirer, Camegm(Heume
2) Ggnfianm, QuigmiT, Gamesm(Heumer
3) Carampeurar, Gariemm, GleTT
4) Caraw@eurenm, Arugnt, Ggmie

ahsl Gumiler @puyele Qrruml
Seperey @rlenl L8 papnw
Qamera(h eUbHSHTT ?

(1)  Qerrdl Cunr

(2)  uwsggmr Gumr

3) @wsemd srprLsl Gumd
(4) @nrewrmb srpTLsl GumT

Cuegeur @remLmd urdrrey ehHs
2 L et sensudanuly GeidGeoevalulen
geaaruumLg SHlLsms gHMmE
Qg mesrimir ?

(1)  &meveru 2 Leug&ens
(2)  uwevalen 2 L anuigsans
(3) urfe 2 ey éms
(4)  WLRISEHT 2 Laiuig &

@ |
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158. The idea of competitive examination for
recruitment of Government staff was
introduced first by the
(1) 1813, Charter Act
(2) 1833, Charter Act
(3) 1853, Charter Act
(4) Indian Government Act, 1858

159. Ghatika was the Educational Institution of

period.
(1) Pandias
(2) Cholas
(3) Cheras
(4) Pallavas

160. Match the following.

(a) Arete i) Wind

(b) Loess (i) Rivers

(c) Lagoon (i) Glacier
(d) Plunge Pool (iv) Sea waves
(1) (a)-(id), (b)-@), (c)-(iv), (d)-(ii)

(2)  (@)-(), (b)-(ii), (o)-(iid), (d)-(iv)

(3)  (a)-(i), (b)-(iv), (c)-(i), (d)-(ii)

(4)  (a)-(iii), (b)-(i1), (¢)-(iv), (d)-(i)

161. International mother ]anguage day is
celebrated on
(1) 2nd February
(2) 12th February
(3) 21° January

(4) 215t February

24

158.

159.

160.

161.

N
Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com

Gur_ys Game| epaid res

mummm GTap HMEDS (Psen

(p&edled N IEANINICF: -8

(1) 1813, Ul LWwé FLLD

(2) 1833, ULLWE FLLLD

(3) 1853, UL W& FLLLD

(4) 1858, @B AT&EE FLLID

“Hla & GTETLS) &6 &evedl

‘r_g}g]memréw;érr.

(1)  urehriguim

(2) Gemprm

(3) Gagm

(4) uweveveur

QuT(HSES.

@ <ACrl® i) s

(b) ursnerser (i)  Ym&er

(© 2vumsfsear (i) Liestlwmmy

(d) 2 lurdey (iv) &L e
Ca&aid

(M) (@kGi), (0)-(), (0)-(iv), (d)-(ii

@) (@6i), (0)-Gi), (0)-(ii), (d)-(iv)

(®)  @-) B)-v), (©-Gi), ()i

() @)-(i), (b)-(i), (©)-(iv), (d)-()

LiettesTmL”_(p) STLELMA demd Qamamm
Luu(eug

(1) Augeud -2
()  Augeud - 12
(3)  memeur - 21
4)  Qdgeud - 21
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162. The ore found in Kanjamalai in Tamil Nadu
15

(1) Copper

(2) Bauxite

(3) Iron

(4) Manganese

163. Find the odd one out :
(1) Kumbakarai
(2) Killiyur

(3) Agaya Gangai

(4) Vettangudi

164. Match the following :

() Maharashtra (i)  Marari Beach

(b) Karnataka (i) Aguda Beach
(c) Goa (iii) Tarkarli Beach
(d) Kerala (iv) Om Beach

) (@), B)-0), ©-v). (-G
@ (@), O-iD), ©-wv), (-G
() (a)-(iv), (0)-Gi), -, @-0

() (@)-(ii), (b)-(iv), (©)-(id), (d)-{)

25
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162. spsssa sEpgLmuin HaL&Ew
gl -

163.

164.

1)

SOl 7D
LTSN
fowy

LD R G 60T &

QumHsTs geatend Cambbs[H&seD.

(1) @GbussmT

(2) Al

(3) ST SR®S

4) CalLmgy

QUIMHESIS :

(@) waTpreEylgrr (i) gy
SLDEE]T

(b) sTBTLST i) <GS
5LHET

(c) Csmeur (i) gremrad
SLDS

(d) Gsrarm (V) @ sLDE®Y

(1) (@)-(ii), (b)-(i), (c)-(iv), (d)-(ii)

(2)  @-(0), (b)-(iii), (c)-(iv), (d)-(ii)

@3)  (@-(iv), (b)-(id), (o)-(iii), (d)-(3)

@) (@)-(i), (b)-(iv), (0)-(ii), (d)-(0)
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165. Find the incorrect pair :

(1) South America - Mount Aconcagua

(2) North America - Mount McKinley

(3) Europe - Mount Kosciuzko
(4) Asia - Mount Everest
166. In Mexico —______is called “Sierra

Madre”, a young folded mountain.

(1) Himalayas
(2)  Appalachian Mountains

(3)  Andes Mountains

(4)  Rocky Mountains

167. “Grand Banks” relates to :

(1)  Minerals

(2)  Industries

(3)  Fishing ground

(4) Transport Road

168. Which is known as the ‘Light House of

Mediterranecan Sea ?

(1)  St. Helens

(2)  Stromboli

(3)  Vesuvius

(4) Mauna Loa

26

165.

166.

167.

168.

QUIEHHSTS Qenamen s Sz .

Qgen 2Cwflésm - SASTESMEe

(1)
LD
(2) GuUL &erﬂe%a;rr- @LD&SISQBS'{»&TG\S, gﬂg,mb
3) eGrraum - &MeVElLevCayr
&b

QwsAGar Briige “Surgr wr’ Gy
aranm HePpss iR BeThd Wiy
LDENEY.

(1) @wwwbee

2) SUGaadlwer wenevser

(3)  eMTigEV LOENEY

(4)  gr&dl wenevgerT

‘Forewml. Cums o L &
ClmLmyenLwg).

(1) sailo eueTd

(2) Qgmpperenoser

(3) ey serid

4) CGunsmeurss srena

'weHu sentesL e seiismT elaTdsn’
CTE HeNLPSEUIL(Heug)

(1)  Qelerr’ GQameven

(2)  evlgrowGumed

(3) Geugedwen

(4)  weyearm Gam

_ WAW | CTEDUCATI ONTOOLS. COV _ _
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169. Swahili culture is 3 mixture of
and
(1) Arabs and Americans
(2)  Africans and Europeans
(3)  Arabs and Africans
(4)  Africans and Asians
170. Which is the largest freshwater lake in
Africa ?
(1) Tanganyika
(2)  Victoria
(3)  Malavi
(4) Turkana
171. The river that runs from Australian Alps to
the Indian Ocean is :
(1)  Murray
(2)  Alexandria
(3) Lachlan
(4) Swan
172. Xiluodu Dam is in:
(1) China
(2)  Venezuela
(3) Brazil

Paraguay

27

169.

170.

171.

172.

| CODE | VIII | 11 | 23 |

FeUmell &QTFFMyD LM @i Lb
________ waseflanr @ enaneume
2 (HEUMEN HemeUWM(GLD.

1) <Criw womb HGwilgEs
2) @ifés wpmb KGrmuGw
3) Criw whmbd Y Gfss
4) <Ulf&ss LOHML DS

g ulfsareile o drer WeslUGUMw
peseni eyl :

(1)  LrisTandsm
2) &9&CLmlwun
(3) wrered

4)  grsTeT

G @dlGrellumailer ol wamws
AerLMalmbg @ndwl Qumris
eueny LMY B

wprGry
@|®@$@Unmmﬁmn
QOMTFET

GG TEBT

Bayh amenr SenoBEETET @LID :

(1)  Seormr

2) Qeuailgeom
3) QGCréa
(4)  urmECGeu
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173.

174.

The leading producer of petroleum in India :

. Raniganj

Digboi

Bokaro

Jharia

To become a Chief Minister, one should have
completed the age of :

175.

1) 18
2) 25
(3) 35
4) 30

A party is recognised as a National party
when it secures atleast of the
valid votes in Lok Sabha/ Assembly elections

in four states.

1) 5%
@) 3%
3) 7%
4) 6%

28

173.

174.

175.

@@@wﬂaﬂ@ @uf.(ﬁr;rrc@mfo &@UM)
Qeiu|d (PSETE@LD BEIID :

(1) oranfleEss
@ Hsumd
@) QurerGym
() sgrfwr

WPED@WDESTTES G HOUD  @meu
___ awgl Yisdumrpmses
GouaiT(HLD.

(1) 18
(2) 25
(3) 35
4) 30
em &sL8 Csdw s Auns
2AmbsfssiudeausnE wésamama

DNDVDG  BTETE 0MHla k& EhéEsran
FrLwang Ggigadles OQowwssss
Qrgs cunsssefla GUM&(S-
genell Lumdlmasa Ceua (L.

5%

3%

7%

6 %
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176. Match the fn]lnwinﬂ :

(a)  First Woman (i) Arundhati Roy
Governor

(b)  First Woman (i) Indira Gandhi
Prime Minister

(c)  First Woman (i) Mecira Kumar
Speaker of
Loksabha

(d)  First Indian (iv)  Sarojini Naidu
Woman o win
Booker Prize

(1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(2)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

() (a)-(iv), (b)-(i1), (¢)-(iii), (LI)-(i)

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

177. According to Amendment of
Indian Constilution, a set of fundamental
duties are prvsa'rilwd to all citizens of India.
(l) 42m|
(2) 215¢
(%) 5}11]

(4) 43
178. Which country is not a member of BIMSTEC ?

(1) India

(2)  Mvanmar

(3)  China

(‘!‘) \'L'PL\I

[CODE]VIIT] 11 |23 |

176, GlLnapdhsis

177.

. Sl 61 e (1 @u 6ot eu i) My €

(a) apgad Cuaa () 2 (1 HHH)
N GiAUL T
(b)  apman Cuer (i) Gl
Giyg,om &ihA)
ves m .
(C)  DEACTENE (i) Bym @Lonr
(Lp&ED ARl
/}'un;brruw;fr
TR ( o [q P
(d) L ufls (iv) aCyrgled
Cuhm apsen iy ()

EibAluIs GlLigi
(1) (a)(i), (b)-(ii), (o)-(iii), (d)-(iv)
(2)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(3) (a)-(iv), (b)-(i1), (c)-(iii), (d)-(i)
() (a)-(iv), (b)-(iii), ()-(0), (d)-(ii)

OOy DY gfluaenwGer _

m'_l_gLiZP(rjj}_’,{!;ng,ﬁlz'mumr {@mgu &g -
D& EEHEITE 24ig (1LIEDLE &L ENLDEET

euanm &AL (HeTeres.

(1) 42 -cug)
(2) 21 -eugy
(3) 53 -eugy
(4) 45 -cugy

L Y D LATER: A
gal_L et mr(hgeilen Gleveuns epemm)

(1)  Emdlwm

(2)  BOwiresiom

(3)  Femn

(4) Cruremb

. WAV | CTEDUCATI ONTOOLS. CQOv . ]
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179.

180.

The MLA of your constituency is one of the
Ministers in the State assembly. He comes

under activity.

(1)

Secondary economic

2)

Tertiary economic

(3)

Quaternary economic

(4)  Quinary economic

Which among the following does not fall

under the market type based on the
Geographic Location ?

Local Market

Regional Market

(3) Spot Market

(4) International Market

-00o0-

179. o MmI&GET

180.

Qsr@duder &Ly,
o mudanft WwrHle S| D DEFF Taneu Ll 6y
L@ QuDoETeTT. e -
Qeweour®seailay LG,

1) @rawLmb Hlene Gumpermgy
2) @peapmd Hlene Qunpermgmy

(3) prenamd Hlepe Cummerngmy

4) @BSTD Bleney Glummarmgmy

Spssaraupdled Lefudwe & mi-
Gl gdlett gLl FHhang euamssealld
Qewrsg) e ?

(1)  2emepT shenss6r

(2)  dYprpdw FTbEN ST

3) eLamgs EHeng

(4) sreuCse EHEnSSeT

-000-
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